# Comparison theorems of two Adams spectral sequences

### Mizuho Hikida

(Received March 24, 1999) (Revised January 22, 2003)

**ABSTRACT.** Suppose that  $f: X \to Y$  is a map between spectra and  $E_2(X), F_2(Y)$  are  $E_2$ -terms of the  $E_7$ ,  $F_7$ -Adams spectral sequences for  $X, Y, T_7$ , respectively. We shall give conditions for  $f_*: E_2(X) \to F_2(Y)$  such that  $f_*: \pi_t(X) \to \pi_t(Y)$  is monomorphic or epimorphic.

#### 1. Introduction

Let  $f: X \to Y$  be a map of spectra. In this paper, we argue conditions such that the homomorphism  $f_*: \pi_t(X) \to \pi_t(Y)$  is monomorphic or epimorphic by using the Adams spectral sequences. Let  $\lambda: E \to F$  be a map of ring spectra. Then we have the E- and F-Adams spectral sequences  $\{E_r^{s,t}(X)\}$  and  $\{F_r^{s,t}(Y)\}\$  abutting to  $\pi_{t-s}(X)$  and  $\pi_{t-s}(Y)$ , respectively, and a homomorphism  $f_* \circ \lambda_* : \{E_r^{s,t}(X)\} \to \{F_r^{s,t}(Y)\}.$  We denote

$$\overline{Z}E_r^{s,t}(X) = \{x \in E_r^{s,t}(X) \mid x \text{ converges to some element of } \pi_*(X)\},$$

$$\overline{Z}F_r^{s,t}(Y) = \{y \in F_r^{s,t}(Y) \mid y \text{ converges to some element of } \pi_*(Y)\}.$$

Our main theorems are the following.

THEOREM 1.1. Suppose that  $\{E_r^{s,t+s}(X)\}$  converges to  $\pi_t(X)$ . Fix an integer t. We assume the following:

- i) There exists an integer  $s_0(t)$  such that  $E^{s,t+s}_{\infty}(X)=0$  for  $s>s_0(t)$ . ii)  $f_*\circ\lambda_*:\overline{Z}E^{s,t+s}_2(X)\to\overline{Z}F^{s,t+s}_2(Y)$  is monomorphic for  $0\leq s\leq s_0(t)$ . iii)  $f_*\circ\lambda_*:E^{s,t+s+1}_2(X)\to F^{s,t+s+1}_2(Y)$  is epimorphic for  $0\leq s\leq s_0(t)-2$ . Then  $f_*: \pi_t(X) \to \pi_t(Y)$  is monomorphic.

THEOREM 1.2. Suppose that  $\{F_r^{s,t+s}(Y)\}\$  converges to  $\pi_t(Y)$ . Fix an integer t. We assume the following:

- i) There exists an integer  $s_1(t)$  such that  $F_{\infty}^{s,\,t+s}(Y)=0$  for any  $s>s_1(t)$
- ii)  $f_* \circ \lambda_* : \overline{Z}E_2^{s,t+s}(X) \to \overline{Z}F_2^{s,t+s}(Y)$  is epimorphic for  $0 \le s \le s_1(t)$ . Then  $f_*: \pi_t(X) \to \pi_t(Y)$  is epimorphic.

Key words and Phrases. Adams spectral sequence, Stable homotopy group.

<sup>2000</sup> Mathematics Subject Classification. 55T15, 55Q10

If  $E_*E$  is flat, then  $E_2^{s,t}(X) = \operatorname{Ext}_{E_*E}^{s,t}(E_*, E_*(X))$ . But we argue in the general cases. As an application of the main theorems, consider the localizations  $L_EX$  and  $L_FX$ . The ring map  $\lambda$  induces a map  $L_\lambda: L_EX \to L_FX$ . We apply the main theorems to  $L_\lambda$ . We define a spectrum  $\overline{E}$  by a cofibration  $S^0 \xrightarrow{\eta^E} E \to \overline{E}$  for a unit  $\eta^E$  of E and  $\overline{E}^n = \overline{E} \wedge \cdots \wedge \overline{E}$  (n-times). Consider the edge homomorphism  $\phi^F: \pi_t(X) \to F_2^{0,t}(X)$ . This is induced from the Hurewicz homomorphism  $\pi_t(X) \to F_t(X)$ .

THEOREM 1.3. Suppose that  $\{E_r^{s,t+s}(X)\}$  converges to  $\pi_t(L_EX)$ . Fix an integer t. We assume the following:

- i) There exists an integer  $s_0(t)$  such that  $E_{\infty}^{s,t+s}(X) = 0$  for  $s > s_0(t)$ .
- ii)  $F_2^{s, t+s+r+1}(E \wedge \overline{E}^r \wedge X) = 0$  for  $0 < s < s_0(t) r$ .
- iii)  $\phi^{\overline{F}}: \pi_{u+s}(E \wedge \overline{E}^s \wedge X) \to F_2^{0,u+s}(E \wedge \overline{E}^s \wedge X)$  is monomorphic for  $s \leq s_0(t)$  and u = t, and epimorphic for  $s < s_0(t)$  and u = t + 1.

Then  $L_{\lambda*}: \pi_t(L_E X) \to \pi_t(L_F X)$  is monomorphic.

THEOREM 1.4. Suppose that  $\{E_r^{s,t+s}(X)\}$  and  $\{F_r^{s,t+s}(X)\}$  converge to  $\pi_t(L_EX)$  and  $\pi_t(L_FX)$ , respectively. Fix an integer t. We assume the following:

- i) There exists an integer  $s_1(t)$  such that  $F_{\infty}^{s,t+s}(X) = 0 = \overline{Z}E_2^{s+1,t+s}(X)$  for any  $s > s_1(t)$ .
- ii)  $F_2^{s, t+s+r}(E \wedge \overline{E}^r \wedge X) = 0$  for  $0 < s < s_1(t) r + 1$ .
- iii)  $\phi^F : \pi_{u+s}(E \wedge \overline{E}^s \wedge X) \to F_2^{0,u+s}(E \wedge \overline{E}^s \wedge X)$  is monomorphic for  $s \le s_1(t) + 1$  and u = t 1, and epimorphic for  $s < s_1(t) + 1$  and u = t. Then  $L_{\lambda*} : \pi_t(L_E X) \to \pi_t(L_F X)$  is epimorphic.

COROLLARY 1.5. Suppose that  $E_*(E)$  and  $E_*(X)$  are flat over  $E_*(S^0)$ ,  $F_*(F)$  is flat over  $F_*(S^0)$ ,  $\operatorname{Ext}_{F_*F}^{s,*}(F_*,F_*(E))=0$  for  $0 < s < s_0$  and  $\phi^F:\pi_*(E) \to \operatorname{Ext}_{F_*F}^{0,*}(F_*,F_*(E))$  is isomorphic. Moreover we assume that  $\{E_r^{s,t+s}(X)\}$  and  $\{F_r^{s,t+s}(X)\}$  converge to  $\pi_t(L_EX)$  and  $\pi_t(L_FX)$ , respectively.

Fix an integer t. If  $\operatorname{Ext}_{E_*E}^{s,t+s}(E_*,E_*(X)) = 0$  for  $s > s_0$ , then  $L_{\lambda*}: \pi_t(L_EX) \to \pi_t(L_FX)$  is monomorphic. If  $\operatorname{Ext}_{F_*F}^{s,t+s}(F_*,F_*(X)) = 0 = \operatorname{Ext}_{E_*E}^{s+1,t+s}(E_*,E_*(X))$  for  $s > s_0 - 1$  then  $L_{\lambda*}: \pi_t(L_EX) \to \pi_t(L_FX)$  is epimorphic.

For our purpose, we review the theory of the Adams spectral sequence in §2 and compare two Adams spectral sequences in §3. Theorems 1.1–1.4 and Corollary 1.5 are proved at §3. In this paper, we work in the stable homotopy category.

## 2. The Adams spectral sequences

Let E be a ring spectrum with unit  $\eta^E: S^0 \to E$ . Consider a cofibering  $S^0 \stackrel{\eta^E}{\to} E \stackrel{\overline{\eta}^E}{\to} \overline{E}$  and the boundary homomorphism  $\partial^E: \pi_{t+1}(\overline{E} \wedge X) \to \pi_t(S^0 \wedge X)$ . For a spectrum X, we denote

$$X_s^E = \overline{E}^s \wedge X$$
  $(\overline{E}^s = \overline{E} \wedge \dots \wedge \overline{E})$  and cofibrations 
$$S^0 \wedge X_s^E \xrightarrow{\eta^E} E \wedge X_s^E \xrightarrow{\tilde{\eta}^E} X_{s+1}^E$$
 (2.1)

The boundary homomorphisms  $\partial^E: \pi_{t+1}(X_{s+1}^E) \to \pi_t(X_s^E)$  define the Adams filtration

$$\pi_{t+s}(X_s^E) \to \pi_{t+s-1}(X_{s-1}^E) \to \cdots \to \pi_t(X_0^E) = \pi_t(X).$$
(2.2)

Then we have the *E*-Adams spectral sequence  $\{E_r^{s,t}(X), d_r^E : E_r^{s,t}(X) \rightarrow E_r^{s+r,t+r-1}(X)\}$ . The  $E_1$  and  $E_2$  terms are as follows:

$$E_1^{s,t}(X) = \pi_t(E \wedge X_s^E) = E_t(X_s^E), \quad d_1^E : \pi_t(E \wedge X_s^E) \xrightarrow{\bar{\eta}_s^E} \pi_t(X_{s+1}^E) \xrightarrow{\eta_s^E} \pi_t(E \wedge X_{s+1}^E),$$

$$E_2^{s,t}(X) = \operatorname{Ker} d_1^E / \operatorname{Im} d_1^E.$$

By definition,  $\operatorname{Im}[\eta^E_*:\pi_t(X^E_s)\to\pi_t(E\wedge X^E_s)]\subset\operatorname{Ker} d^E_1$  and  $\operatorname{Ker}[\overline{\eta}^E_*:\pi_t(E\wedge X^E_s)\to\pi_t(X^E_{s+1})]\supset\operatorname{Im} d^E_1$ , and so we have homomorphisms

$$\eta_*^E : \pi_t(X_s^E) \to E_2^{s,t}(X), \qquad \bar{\eta}_*^E : E_2^{s,t}(X) \to \pi_t(X_{s+1}^E).$$
(2.3)

Remark 2.1. If  $E_*E=E_*(E)$  is flat over  $E_*=E_*(S^0)$ , then  $E_2^{s,t}(X)=\mathrm{Ext}_{E_*E}^{s,t}(E_*,E_*(X))$  and the homomorphism  $\eta_*^E:\pi_t(X_s^E)\to E_2^{s,t}(X)$  is the composition of the Hurewicz homomorphism  $\phi^E:\pi_t(X_s^E)\to\mathrm{Hom}_{E_*E}^t(E_*,E_*(X_s^E))$  and the coboundary homomorphisms

$$\operatorname{Hom}_{E_*E}^t(E_*,E_*(X_s^E)) \to \operatorname{Ext}_{E_*E}^1(E_*,E_*(X_{s-1}^E)) \cong \cdots \cong \operatorname{Ext}_{E_*E}^{s,t}(E_*,E_*(X)).$$

We use notation

$$ZE_2^{s,t}(X) = \{x \in E_2^{s,t}(X) \mid d_r^E x = 0 \text{ in } E_r\text{-term for any } r\}$$
 and  $\overline{Z}E_2^{s,t}(X) = \text{Im}[\eta_*^E : \pi_t(X_s^E) \to E_2^{s,t}(X)] \subset ZE_2^{s,t}(X).$ 

REMARK 2.2. We notice that  $\overline{Z}E_2^{s,t}(X)$  depends on the Adams resolution (2.2). Let  $f: X \to Y$  be a map such that  $f_*: E_2^{s,t}(X) \to E_2^{s,t}(Y)$  is isomorphic. Then  $f_*: ZE_2^{s,t}(X) \to ZE_2^{s,t}(Y)$  is isomorphic, but  $f_*: \overline{Z}E_2^{s,t}(X) \to \overline{Z}E_2^{s,t}(Y)$  is not so. For example, consider the *E*-localization map  $X \to L_E X$ . If X is E-prenilpotent then  $\{E_r^{s,t}(X)\}$  converges to  $\pi_*(L_E X)$  and, by [2],

$$E_2^{s,t}(X) = E_2^{s,t}(L_E X) \quad \text{and}$$

$$ZE_2^{s,t}(X) = ZE_2^{s,t}(L_E X) = \overline{Z}E_2^{s,t}(L_E X) \supset \overline{Z}E_2^{s,t}(X).$$
(2.4)

The following lemma holds by definition (see [4]).

LEMMA 2.3. i)  $x_s \in \pi_t(X_s^E)$  satisfies  $\eta_*^E(x_s) = 0 \in E_2^{s,t}(X)$  if and only if there are elements  $x_{s+1} \in \pi_{t+1}(X_{s+1}^E)$  and  $w_{s-1} \in \pi_t(E \wedge X_{s-1}^E)$  with  $x_s = \hat{\sigma}^E(x_{s+1}) + \bar{\eta}_*(w_{s-1})$ .

 $w \in \pi_t(E \wedge X_s^E)$  satisfies  $d_1^E w = 0$  if and only if there exists an element  $x_{s+2} \in \pi_{t+1}(X_{s+2}^E)$  with  $\bar{\eta}_*^E(w) = \partial^E(x_{s+2}) \in \pi_t(X_{s+1}^E)$ .

The following is a well-known fundamental result.

**PROPOSITION** 2.4. i)  $x^E \in E_2^{s,t}(X)$  converges to  $x \in \pi_{t-s}(X)$  if and only if there exists an element  $x_s \in \pi_t(X_s^E)$  such that  $x^E = \eta_*^E(x_s)$  and  $(\partial^E)^s(x_s) = x.$ 

- ii)  $y^E = d_r^E(x^E)$  in  $E_r$ -term for  $x^E \in E_2^{s,t}(X)$  and  $y^E \in E_2^{s+r,t+r-1}(X)$  if and only if there exists an element  $y_{s+r} \in \pi_{t+r-1}(X_{s+r}^E)$  such that  $\overline{\eta}_*^E(x^E) = 0$  $(\partial^{E})^{r-1}(y_{s+r})$  and  $\eta_{*}^{E}(y_{s+r}) = y^{E}$ .
- iii)  $\overline{Z}E_2^{s,t}(X) \subset ZE_2^{s,t}(X)$ . Especially,  $\overline{Z}E_2^{s,t}(X) = ZE_2^{s,t}(X)$  if and only if  $\{E_r^{s,t}(X)\}\$  converges to  $\pi_{t-s}(X)$ .
- iv) If  $\{E_r^{s,t}(X)\}$  converges to  $\pi_{t-s}(X)$  and there exists an integer s(t) such that  $E_{\infty}^{s,s+t}(X) = 0$  for s > s(t), then

$$\operatorname{Im}\{(\partial^E)^s : \pi_{t+s}(X_s^E) \to \pi_t(X)\} = 0$$
 for  $s > s(t)$ .

DEFINITION 2.5. Let  $\{d_r^Ex^E\}\subset E_2^{s+r,t+r-1}(X)$  be a subset consisting of elements  $y^E$  satisfying the above proposition ii) for an element  $x^E\in E_2^{s,t}(X)$ .

 $\text{Corollary 2.6.} \quad \text{i)} \ \ \{d_2^E x^E\} = d_2^E (x^E) \ \ \text{and} \ \ \{d_r^E 0\} = \bigcup_{x^E \in E_2^{s+1,\, t+1}(X)} \{d_{r-1}^E x^E\}$ 

- $y_1^E-y_2^E\in \{d_{r-a}^E\theta\}.$
- iii)  $\{d_r^E x^E\} \ni 0$  if and only if  $\{d_{r+1}^E x^E\} \neq \emptyset$ . Hence  $x^E \in ZE_2^{s,t}(X)$  if and
- only if  $\{d_r^E x^E\} \ni 0$  for any  $r \ge 2$ . iv) If  $(\partial^E)^{r-1}(x_s) \ne 0$  and  $(\partial^E)^r(x_s) = 0$  for  $x_s \in \pi_t(X_s^E)$  and  $2 \le r \le s$ , then there exists an element  $y^E \ne 0 \in E_2^{s-r,t-r+1}(X)$  such that  $\{d_r^E y^E\} \ni \eta_*^E(x_s)$ .

Consider another ring spectrum F with unit  $\eta^F: S^0 \to F$  and a ring map  $\lambda: E \to F$ . We have cofiberings  $X_s^F \to F \wedge X_s^F \to X_{s+1}^F$  and the Adams spectral sequence  $\{F_r^{s,t}(X)\}$  abutting to  $\pi_{t-s}(X)$ . Then  $\lambda$  induces maps  $\lambda_0 = id: X \to X, \lambda_s: X_s^E \to X_s^F$  inductively by the commutative diagrams:

$$X_{s}^{E} \xrightarrow{\eta^{E}} E \wedge X_{s}^{E} \xrightarrow{\bar{\eta}^{E}} X_{s+1}^{E}$$

$$\lambda_{s} \downarrow \qquad \lambda_{s} \lambda_{s} \downarrow \qquad \lambda_{s+1} \downarrow$$

$$X_{s}^{F} \xrightarrow{\eta^{F}} F \wedge X_{s}^{F} \xrightarrow{\bar{\eta}^{F}} X_{s+1}^{F}.$$

$$(2.5)$$

Hence we have a homomorphism  $\lambda_* : \{E_r^{s,t}(X)\} \to \{F_r^{s,t}(X)\}$  between spectral sequences.

We notice that  $\eta^E_*: F_*(X^E_s) \to F_*(E \wedge X^E_s)$  is monomorphic by the inverse map  $F \wedge E \wedge X^E_s \to F \wedge F \wedge X^E_s \to F \wedge X^E_s$ . Consider the following conditions for some integers  $a \geq 0, b$ :

$$F_2^{s,s+r+b+1}(E \wedge X_r^E) = 0$$
 for  $0 < s < a - r$ . (2.6)

$$\phi^F = \eta^F_* : \pi_{t+s}(E \wedge X^E_s) \rightarrow F_2^{0,\,t+s}(E \wedge X^E_s)$$

is monomorphic for  $s \le a$ , t = b and epimorphic for s < a, t = b + 1.

Then we have [4, Theorem 3.5].

Theorem 2.7. For integers  $a \ge 0$  and b satisfying (2.6), the following holds:

- i)  $\lambda_*: E_2^{s, t+s}(X) \to F_2^{s, t+s}(X)$  is monomorphic for  $s \le a$  and t = b and epimorphic for s < a and t = b + 1.
- ii)  $\lambda_*: \overline{Z}E_2^{s,s+b}(X) \to \overline{Z}F_2^{s,s+b}(X)$  is isomorphic for  $s \leq a$  and epimorphic for s = a+1.

### 3. Comparison of two Adams spectral sequences

In this section, we compare two Adams spectral sequences and prove Theorems 1.1, 1.4 and Corollary 1.5.

Let  $f: X \to Y$  be a map between spectra and  $\lambda: E \to F$  a ring map between ring spectra. Inductively, we have maps  $f_0 = f: X \to Y$ ,  $f_s: X_s^E \to Y_s^F$  by the commutative diagrams:

$$X_{s}^{E} \xrightarrow{\eta^{E}} E \wedge X_{s}^{E} \xrightarrow{\bar{\eta}^{E}} X_{s+1}^{E} \xrightarrow{\partial^{E}} \Sigma X_{s}^{E}$$
 $f_{s} \downarrow \qquad \lambda \wedge f_{s} \downarrow \qquad f_{s+1} \downarrow \qquad \Sigma f_{s} \downarrow$ 
 $Y_{s}^{F} \xrightarrow{\eta^{F}} F \wedge Y_{s}^{F} \xrightarrow{\bar{\eta}^{F}} Y_{s+1}^{F} \xrightarrow{\partial^{F}} \Sigma Y_{s}^{F}.$ 

Then we have a homomorphism  $f_* \circ \lambda_* : \{E_2^{s,t}(X)\} \to \{F_2^{s,t}(Y)\}$  between spectral sequences.

Now we prepare the following.

LEMMA 3.1. i) Let  $x_s \in \pi_t(X_s^E)$  and  $y_{s+1} \in \pi_{t+1}(Y_{s+1}^F)$  be elements with  $f_{s-1*} \circ \partial^E(x_s) = (\partial^F)^2 y_{s+1}$ . If  $f_* \circ \lambda_* : \overline{Z}E_2^{s,t}(X) \to \overline{Z}F_2^{s,t}(Y)$  is monomorphic, then there exists an element  $x_{s+1} \in \pi_{t+1}(X_{s+1}^E)$  with  $(\partial^E)^2 x_{s+1} = \partial^E x_s$ .

ii) Let  $x_{s+1} \in \pi_{t+1}(X_{s+1}^E)$  and  $y_{s+1} \in \pi_{t+1}(Y_{s+1}^F)$  be elements with  $f_{s-1*} \circ (\partial^E)^2(x_{s+1}) = (\partial^F)^2y_{s+1}$ . If  $f_* \circ \lambda_* : E_2^{s-1,t}(X) \to F_2^{s-1,t}(Y)$  is epimorphic, then there exists an element  $x'_{s+1} \in \pi_{t+1}(X_{s+1}^E)$  such that

$$(\hat{\sigma}^E)^2 x'_{s+1} = (\hat{\sigma}^E)^2 x_{s+1}$$
 and  $f_{s*} \circ \hat{\sigma}^E (x'_{s+1}) = \hat{\sigma}^F y_{s+1}$ .

PROOF. i) By  $\partial^F (f_{s*}x_s - \partial^F y_{s+1}) = 0$ , we have  $v \in \pi_t(F \wedge Y_{s-1}^F)$  with  $f_{s*}x_s = \partial^F y_{s+1} + \overline{\eta}_{*}^F v.$ (3.1)

Then  $f_{s*}(\eta_*^E x_s) = \eta_*^F \circ \bar{\eta}_*^F(v) = d_1^F v$ , and so  $f_* \circ \lambda_*(\eta_*^E x_s) = 0 \in \overline{Z}F_2^{s,t}(Y)$ . By the assumption,  $\eta_*^E x_s = 0 \in \overline{Z}E_2^{s,t}(X)$ . By Lemma 2.3 i), we have elements  $x_{s+1} \in \pi_{t+1}(X_{s+1}^E)$  and  $w \in \pi_t(E \wedge X_{s-1}^E)$  with  $x_s = \partial^E(x_{s+1}) + \overline{\eta}_*^E(w)$ . Hence  $(\partial^E)^2 x_{s+1} = \partial^E x_s.$ 

ii) By 
$$(\partial^F)^2 (f_{s+1*} x_{s+1} - y_{s+1}) = 0$$
, we have  $v \in \pi_t(F \wedge Y_{s-1}^F)$  with 
$$f_{s*} \circ \partial^E (x_{s+1}) = \partial^F y_{s+1} + \bar{\eta}_*^F v. \tag{3.2}$$

By  $d_1^Fv=\eta_*^F\circ \bar{\eta}_*^Fv=0$  and the assumption, we have an element  $w\in E_2^{s-1,\,t}(X)$  with  $f_*\circ \lambda_*(w)=v\in F_2^{s-1,\,t}(Y)$ . Then

$$\eta_*^E \circ \overline{\eta}_*^E w = d_1^E w = 0$$
 and  $f_{s*} \circ \overline{\eta}_*^E w = \overline{\eta}_*^F v$ ,

and so we have  $x' \in \pi_{t+1}(X_{s+1}^E)$  with  $\partial^E x' = \overline{\eta}_*^E w$ . Now we take  $x'_{s+1} =$  $x_{s+1} - x'$ . Then

$$(\partial^{E})^{2} x'_{s+1} = (\partial^{E})^{2} x_{s+1}$$
 and 
$$f_{s*} \circ \partial^{E} (x'_{s+1}) = \partial^{F} y_{s+1} + \bar{\eta}_{*}^{F} v - f_{s*} \circ \bar{\eta}_{*}^{E} w = \partial^{F} y_{s+1}.$$

We use this lemma inductively. By the statements i), ii) applied for s + iinstead of s with  $0 \le i \le n-2$ , we can define elements  $x_{s+1}, x_{s+2}, \dots, x_{s+n-1}$ inductively with

$$(\partial^E)^2 x_{s+i+1} = \partial^E x_{s+i}$$
 and  $f_{s+i*} \circ (\partial^E)^2 (x_{s+i+1}) = (\partial^F)^{n-i} y_{s+n}$ 

and finally by the statement i) for i = n - 1, we have the desired element  $x_{s+n}$  in the following corollaries.

Lemma 3.2. Let  $x_s \in \pi_t(X_s^E)$  and  $y_{s+n} \in \pi_{t+n}(Y_{s+n}^F)$  be elements with  $f_{s-1*} \circ \partial^E(x_s) = (\partial^F)^{n+1} y_{s+n}$ . We assume the following:

i)  $f_* \circ \lambda_* : \overline{Z} E_2^{s+i,t+i}(X) \to \overline{Z} F_2^{s+i,t+i}(Y)$  is monomorphic for  $0 \le i \le n-1$ .

ii)  $f_* \circ \lambda_* : E_2^{s+i-1,t+i}(X) \to F_2^{s+i-1,t+i}(Y)$  is epimorphic for  $0 \le i \le n-2$ .

Then there exists an element  $x_{s+n} \in \pi_{t+n}(X_{s+n}^E)$  such that

$$(\partial^E)^{n+1}x_{s+n} = \partial^E x_s$$
 and  $f_{s+n-2*} \circ (\partial^E)^2(x_{s+n}) = (\partial^F)^2 y_{s+n}$ .

Moreover, if  $f_* \circ \lambda_* : E_2^{s+n-2, t+n-1}(X) \to F_2^{s+n-2, t+n-1}(Y)$  is epimorphic, then we can take the above  $x_{s+n}$  such that  $f_{s+n-1*} \circ \partial^E(x_{s+n}) = \partial^F y_{s+n}$ .

COROLLARY 3.3. Let  $x^E$  be an element of  $E_2^{s,t}(X)$ . We assume the following:

- i)  $f_* \circ \lambda_* : \overline{Z}E_2^{s+i,t+i-1}(X) \to \overline{Z}F_2^{s+i+1,t+i}(Y)$  is monomorphic for  $2 \le i \le r-1$ . ii)  $f_* \circ \lambda_* : E_2^{s+i,t+i}(X) \to F_2^{s+i,t+i}(Y)$  is epimorphic for  $1 \le i \le r-3$ .

Under these conditions, if  $\{d_r^F(f_* \circ \lambda_*(x^E))\} \neq \emptyset$ , then  $\{d_r^E(x^E)\} \neq \emptyset$ . Moreover, if  $f_* \circ \lambda_* : E_2^{s+r-2,t+r-2}(X) \to F_2^{s+r-2,t+r-2}(Y)$  is epimorphic, then the induced map  $f_* \circ \lambda_* : \{d_r^E x^E\} \to \{d_r^F(f_* \circ \lambda_*(x^E))\}$  is surjective.

PROOF. For any  $y^F \in \{d_r^F(f_* \circ \lambda_*(x^E))\} \subset F_2^{s+r,t+r-1}(Y)$ , we have an element  $y_{s+r} \in \pi_{t+r-1}(Y_{s+r}^F)$  with

$$\overline{\eta}_*^F(f_* \circ \lambda_*(x^E)) = (\partial^F)^{r-1} y_{s+r}$$
 and  $\eta_*^F y_{s+r} = y^F$ 

by Definition 2.5. On the other hand, we have an element  $x_{s+2} \in \pi_{t+1}(X_{s+2}^E)$ with  $\partial^E x_{s+2} = \overline{\eta}_*^E x^E$  by Lemma 2.3 ii). These imply that

$$f_{s+1*} \circ \hat{\sigma}^E x_{s+2} = f_{s+1*} \circ \bar{\eta}_*^E x^E = \bar{\eta}_*^F (f_* \circ \lambda_*(x^E)) = (\hat{\sigma}^F)^{r-1} y_{s+r}.$$

By Lemma 3.2, we have an element  $x_{s+r} \in \pi_{t+r-1}(X_{s+r}^E)$  with

$$(\hat{\sigma}^E)^{r-1} x_{s+r} = \hat{\sigma}^E x_{s+2} = \bar{\eta}_*^E x^E$$
 and  $f_{s+r-2*} \circ (\hat{\sigma}^E)^2 (x_{s+r}) = (\hat{\sigma}^F)^2 y_{s+r}$ .

Hence  $\eta_*^E x_{s+r} \in \{d_r^E x^E\}$ . Moreover, if  $f_* \circ \lambda_* : E_2^{s+r-2,t+r-2}(X) \to F_2^{s+r-2,t+r-2}(Y)$  is epimorphic then  $f_{s+r-1*} \circ \partial^E (x_{s+r}) = \partial^F y_{s+r}$ , and so  $f_* \circ \lambda_* (\eta_*^E x_{s+r}) = \eta_*^F \circ f_{s+r*}(x_{s+r}) = \eta_*^F y_{s+r} = y^F \in F_2^{s+r,t+r-1}(Y)$ .

COROLLARY 3.4. For a map  $f: X \to Y$  and two integers t, s, we assume the following:

- i) There exists an integer  $r_0(s,t) \leq \infty$  such that  $\overline{Z}E_2^{s+r,t+r-1}(X) = 0$  for
- ii)  $f_* \circ \lambda_* : \overline{Z}E_2^{s+r,\,t+r-1}(X) \to \overline{Z}F_2^{s+r,\,t+r-1}(Y)$  is monomorphic for any  $2 \le r \le r$
- iii)  $f_* \circ \lambda_* : E_2^{s+r,t+r}(X) \to F_2^{s+r,t+r}(Y)$  is epimorphic for  $0 \le r \le r_0(s,t) 2$ . Then the induced homomorphism  $f_* \circ \lambda_* : ZE_2^{s,t}(X) \to ZF_2^{s,t}(Y)$  is epimorphic.

PROOF. Take any element  $y^F \in ZF_2^{s,t}(Y)$ . By the assumption iii) for r=0, we have  $x^E \in E_2^{s,t}(X)$  with  $f_* \circ \lambda_*(x^E) = y^F$ . We notice that  $\{d_r^F y^F\} \neq 0$  $\emptyset$  for any  $r \ge 2$  by Corollary 2.6 iii). Then Corollary 3.3 implies  $\{d_r^E x^E\} \ne 0$  $\emptyset$  for  $r = r_0(s, t) + 1$ . Now if  $\{d_r^E x^E\} \neq \emptyset$  for  $r > r_0(s, t)$  then  $\{d_r^E x^E\} = \{0\}$ by the assumption i), and so  $\{d_{r+1}^E x^E\} \neq \emptyset$  by Corollary 2.6 iii). By induction, we see that  $\{d_r^E x^E\} \ni 0$  for any  $r \ge 2$ . Hence  $x^E \in ZE_2^{s,t}(X)$  by Corollary 2.6 iii). We complete the proof of this corollary. 

Now we prove Theorems 1.1 and 1.2.

PROOF OF THEOREM 1.1. Take any element  $x \in \pi_t(X)$  with  $f_*(x) =$  $0 \in \pi_t(Y)$ . By the assumption ii) for s = 0,  $\eta_*^E(x) = 0 \in E_*(X)$ , and so we have  $x_1 \in \pi_{t+1}(X_1^E)$  with  $\hat{\partial}^E x_1 = x$ . By Lemma 3.2, there exists an element  $x_{s_0(t)+1} \in \pi_{t+s_0(t)+1}(X_{s_0(t)+1}^E)$  such that  $(\hat{\sigma}^E)^{s_0(t)+1}(x_{s_0(t)+1}) = \hat{\sigma}^E x_1 = x$ . Hence x = 0 by Proposition 2.4 iv).

PROOF OF THEOREM 1.2. Take any element  $y \neq 0 \in \pi_t(Y)$ . By the assumption, we have an element  $y_s \in \pi_{t+s}(Y_s^F)$  such that  $(\partial^F)^s y_s = y$ . We assume that there is no element  $y' \in \pi_{t+s'}(Y_{s'}^F)$  such that  $(\partial^F)^{s'} y' = y$  if s' > s. Then  $s \leq s_1(t)$  by the assumption i) and Proposition 2.4 iv). By the assumption ii), we have an element  $x_s \in \pi_{t+s}(X_s^E)$  with

$$f_* \circ \lambda_*(\eta_*^E(x_s)) = \eta_*^F(y_s) \in F_2^{s,t+s}(Y),$$

and so there exists an element  $y_{s+1} \in \pi_{s+t+1}(Y_{s+1}^F)$  with  $(\partial^F)^2 y_{s+1} = \partial^F \{y_s - f_{s*}(x_s)\}$  by Lemma 2.3 iii). Inductively we can take elements  $y_{s'} \in \pi_{t+s'}(Y_{s'}^F)$  for  $s \le s' \le s_1(t) + 1$  and  $x_{s'} \in \pi_{t+s'}(X_{s'}^F)$  for  $s \le s' \le s_1(t)$  such that  $(\partial^F)^2 y_{s'} = \partial^F \{y_{s'-1} - f_{s'-1*}(x_{s'-1})\}$ . By the assumption i) and Proposition 2.4 iv), we see  $(\partial^F)^{s_1(t)+1}(y_{s_1(t)+1}) = 0$ . Now

$$f_* \sum_{s'=s}^{s_1(t)} (\partial^F)^{s'}(x_{s'}) = \sum_{s'=s}^{s_1(t)} \{ (\partial^F)^{s'} y_{s'} - (\partial^F)^{s'+1} y_{s'+1} \}$$
$$= (\partial^F)^s y_s - (\partial^F)^{s_1(t)+1} y_{s_1(t)+1} = y.$$

Hence  $f_*$  is epimorphic.

Finally, we prove Theorems 1.3 and 1.4.

The ring map  $\lambda: E \to F$  induces a map  $L_{\lambda}: L_E X \to L_F L_E X = L_F X$  and maps between the E- and F-Adams spectral sequences

$$\begin{array}{cccc} \lambda_*: \{E_r^{s,t}(X)\} & \longrightarrow & \{F_r^{s,t}(X)\} \\ & \cong & & & \downarrow \cong \\ \\ L_{\lambda*} \circ \lambda_*: \{E_r^{s,t}(L_EX)\} & \longrightarrow & \{F_r^{s,t}(L_FX)\} \end{array}$$

with

$$E_2^{s,t}(X) = E_2^{s,t}(L_E X)$$
 and  $F_2^{s,t}(X) = F_2^{s,t}(L_F X)$ .

We notice that

If  $\{E_r^{s,t}(X)\}$  converges to  $\pi_*(L_EX)$ , then

$$ZE_2^{s,t}(X) = ZE_2^{s,t}(L_E X) = \overline{Z}E_2^{s,t}(L_E X) \supset \overline{Z}E_2^{s,t}(X).$$
 (3.4)

The same results hold for  $F_2^{s,t}(X)$  and  $F_2^{s,t}(L_FX)$ .

PROOF OF THEOREM 1.3. By Theorem 2.7 for  $a=s_0(t), b=t$ , the assumptions ii–iii) of Theorem 1.3 imply that  $\lambda_*: E_2^{s,u+s}(X) \to F_2^{s,u+s}(X)$  is monomorphic for  $s \leq s_0(t), u=t$  and epimorphic for  $s < s_0(t), u=t+1$ . Hence  $L_{\lambda*} \circ \lambda_*: \overline{Z}E_2^{s,t+s}(L_EX) \to \overline{Z}F_2^{s,t+s}(L_FX)$  is monomorphic for  $0 \leq s \leq s_0(t)$  and  $L_{\lambda*} \circ \lambda_*: E_2^{s,t+s+1}(L_EX) \to F_2^{s,t+s+1}(L_FX)$  is epimorphic for  $0 \leq s \leq s_0(t) - 2$  by (3.3). Now Theorem 1.1 implies this theorem.

PROOF OF THEOREM 1.4. By Theorem 2.7 for  $a=s_1(t)+1,\ b=t-1$ , the assumptions ii–iii) of Theorem 1.4 imply that  $\lambda_*: E_2^{s',u+s'}(X) \to F_2^{s',u+s'}(X)$  is monomorphic for  $s' \le s_1(t)+1,\ u=t-1$  and epimorphic for  $s' < s_1(t)+1,\ u=t$ . We fix an integer  $s \le s_1(t)$ . Then  $\lambda_*: \overline{Z}E_2^{s+r,t+s+r-1}(X) \to \overline{Z}F_2^{s+r,t+s+r-1}(X)$  is monomorphic for  $0 \le r \le s_1(t)-s+1$  and  $L_{\lambda*} \circ \lambda_*: E_2^{s+r,t+s+r}(X) \to F_2^{s+r,t+s+r}(X)$  is epimorphic for  $0 \le r \le s_1(t)-s$ .

 $E_2^{s+r,\,t+s+r}(X) \to F_2^{s+r,\,t+s+r}(X)$  is epimorphic for  $0 \le r \le s_1(t) - s$ . By the assumption i) of Theorem 1.4,  $\overline{Z}E_2^{s',\,t+s'-1}(X) = 0$  for  $s' > s_1(t) + 1$ , and so  $\overline{Z}E_2^{s+r,\,t+s+r-1}(X) = 0$  for  $r > s_1(t) - s + 1$ . Taking  $r_0(s,\,t+s) = s_1(t) - s + 1$  in Corollary 3.4, we see that  $\lambda_* : ZE_2^{s,\,t+s}(X) \to ZF_2^{s,\,t+s}(X)$  is epimorphic for  $s \le s_1(t)$ , and so is  $L_{\lambda *} \circ \lambda_* : \overline{Z}E_2^{s,\,t+s}(L_E X) \to \overline{Z}F_2^{s,\,t+s}(L_F X)$  by (3.4). Now Theorem 1.2 implies this theorem.

PROOF OF COROLLARY 1.5. We have split exact sequences

$$0 \to E_*(S^0 \wedge \overline{E}^n \wedge X) \to E_*(E \wedge \overline{E}^n \wedge X) \to E_*(\overline{E} \wedge \overline{E}^n \wedge X) \to 0.$$

By induction on n,  $E_*(\overline{E}^n \wedge X)$  is flat over  $E_*$ . Now,  $\operatorname{Ext}_{F_*F}^{s,*}(F_*, F_*(E \wedge \overline{E}^n \wedge X))$  is a cohomology group of a cochain complex

$$\{F_*F \otimes_{F_*} \cdots \otimes_{F_*} F_*F \otimes_{F_*} F_*(E \wedge \overline{E}^n \wedge X)\}$$

$$= \{F_*F \otimes_{F_*} \cdots \otimes_{F_*} F_*F \otimes_{F_*} F_*(E) \otimes_{E_*} E_*(\overline{E}^n \wedge X)\}.$$

Since  $F_*F$  is flat.

$$F_2^{s,*}(E \wedge \overline{E}^n \wedge X) = \operatorname{Ext}_{F_*F}^{s,*}(F_*, F_*(E \wedge \overline{E}^n \wedge X))$$

$$= \operatorname{Ext}_{F,F}^{s,*}(F_*, F_*(E)) \otimes_{F_n} E_*(\overline{E}^n \wedge X)$$

by Remark 2.1 (see [4, (3.8.7–9)]). Hence  $F_2^{s,*}(E \wedge \overline{E}^n \wedge X) = 0$  for  $0 < s < s_0$  and

$$\phi^F : \pi_*(E \wedge \overline{E}^n \wedge X) \to \operatorname{Ext}_{F_*F}^{0,*}(F_*, F_*(E \wedge \overline{E}^n \wedge X))$$

is isomorphic. Now Theorems 1.3 and 1.4 imply this corollary.  $\Box$ 

#### References

- J. F. Adams: Stable Homotopy and Generalised Homology, Univ. of Chicago Press, Chicago, Illinois and London, (1974).
- [2] A. K. Bousfield: The localization of spectra with respect to homology, Topology 18 (1979), 257–281.

- [3] E. Devinatz, M. J. Hopkins and J. H. Smith: Nilpotence and stable homotopy theory, Ann. of Math. 128 (1988), 207–242.
- [4] M. Hikida: Relations between several Adams spectral sequences, Hiroshima Math. J. 19 (1989), 37-76.
- [5] H. R. Miller, D. C. Ravenel and W. S. Wilson: Periodic phenomena in the Adams-Novikov spectral sequence, Ann. of Math. 106 (1977), 469-516.
- [6] D. C. Ravenel: Localization with respect to certain periodic homology theories, Amer. J. Math. 106 (1984), 351–414.
- [7] D. C. Ravenel: Complex Cobordism and Stable Homotopy Groups of Spheres, Academic Press, New York, (1986).
- [8] D. C. Ravenel: Nilpotence and Periodicity in Stable Homotopy Theory, Annals of Math. Studies No. 128, Princeton Univ. Press, Princeton, (1993).
- [9] R. M. Switzer: Algebraic topology, Homotopy and Homology, Springer-Verlag, Berlin and New York, (1975).
- [10] R. Zahler: Fringe families in stable homotopy, Trans. A.M.S. 224 (1976), 243-254.

Mizuho Hikida Hiroshima Prefectural University Shobara-shi, 727-0023 Japan

e-mail: hikida@bus.hiroshima-pu.ac.jp